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0 

LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any six 

questions from. Q. No. 2 to 8. Draw diagrams wherever 

necessary. 

1. 	(a) Define any five of the following terms : 	5 

(i) plantigrade 
(ii) Heterodont 
(iii) Oviparous 

(iv) Holobranch 

(v) Cryptic colouration 

(vi) Insectiv or a 
(b) State the location and function of each of 	6 

the following : 
(i) Canine 
(ii) Baleen 
(iii) Malleus 
(iv) Bowman's capsule 

(v) Urophysis 
(vi) Femoral gland 
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4. 	(a) Write the important characteristics of birds 	5 
which distinguish them from other 
vertebrates. 

(b) With the help of key, list the various points 	5 
for identification of the poisonous and non-
poisonous snakes. 

(c) 	Match the following : 
Column I 

4 
Column II 

(i) Lamprey (A) Rabbit 
(ii) Photophore (B) Bioluminiscence 
(iii) Coprophagy (C) Bat 
(iv) Echolocation (D) Agnatha 

2. (a) Describe the structure of a gill in an 
elasmobranch and a teleost fish. 

(b) Explain briefly the process of digestion in 
the ruminant stomach. 

5 

3. Differentiate between the following 
(Any four) : 
(a) Chondrichthyes and Osteichthyes. 
(b) Primary and secondary swimmers. 
(c) Accoustic signals and tactile signals. 
(d) Monotremata and marsupialia. 
(e) Lizard and snake. 

pairs 
21/2x4=10 

5. 	Write short notes on the following : 
(a) Mimicry 

5 
(b) Adaptation for aquatic locomotion. 	5 
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6. 	(a) Draw a well labelled diagram of uriniferous 	5 

tubule. 
Describe the parts of a typical vertebra with 
the suitable diagram. 

5 
(b) 

7. (a) Explain the different types of scales in 	5 

teleost fishes. 
(b) List the affinities of hemichordates with 	5 

echinoderms. 

8. Trace the evolution of heart in vertebrates. How 10 

is single circulation different from double 
circulation ? 
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1. 	(a) F11-1 cl Oc1 71 -4fc7 	 LIFOITrisrd 	5 

(i)  
(ii) aa4-1q-ci 

(iii) 3-fV;17 

(iv) TifTrO 

(v) Th-crtrr-r-q-wr 

(vi)  

(b) F-1-11C1 Oci 	ir4w 	 3Tqf-T-2Tfff 4T 4 	6 

fffft17 : 

(i) 	tqlch 

(ii)7 

(iii) 4fdRTF 

(iv) tlIff VT@ 
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(v) R.)1* iti 

(vi)  

(c) r-p-irofigct 	 : 
	 4 

etatim 	 chIC114 II 

(i) (A) 1Y71.17T 

(ii) mchikeeTT 	(B) w1at.g11td 

(iii) (C) 	 

(iv) 3ffawfff fffNital (D) 	 chk tch 

	

2. 	(a) 	RW 4c1► -1-1 ch .ff2TT C d11(14.1)i.e. 170-01 	PIrf 	5 

	*ti7R I 

(b) *1211 Adt .14 t11-01"13iFTITT*Wl#0414qvi-ilf—A-Ri 	5 

	

3. 	f,1+-l1 if t̂sd 	Wrf 	4-11* GIN 3-1"T( fetIR : 21/2x4=10 

(a) WTI-447 'P-Tf 3117-4?-117 

(b) 7Terril*R.TT fga171*ti* 

(c) Wr TIVff 7P-Tft-Aoi 	tied 

(d) 	 

(e) it94chz11 "ffETT TrIzr 

	

4. 	(a) tlf 	* 1c11 	k te.Fa-TTIT -r- ti7 	 5 

	

ciltrchei).  A flivr  	I 

(b) 471*1kilicil A fq-f11- 	f9f4ET 	cWcilq 	5 

Farlivr 	T1-4-4 Vi-A7 
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5. cf 	Tifikitff 	fofigR : 
(a) 3177T 5 

(b) c Ti 4,401 	arftei 5 

6. (a) Thii 9f is 	chcf I 5 

(b) mtc0-11 WaVW 	fa wr 
ql3fff V1771 

TKT 5 

(a) difiltilt.e 419 (1q.  "111:17 aicl reffiTR mcw* 5 
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(b) WeiT *ct)I*1 51-1 
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Te-4-4 5 

8. ahk tict)q) 	wzr 	f-4-*-R4 	39-1-uur Tr-4R I lefICI 10 

4Rtimitul 	4 t4mItul 	reiltf fiffr t? 
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